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Question Paper Code : 2030
B.Com. (Part-I) Examination, 2018

( Regular & Exempted )
BUSINESS ORGANIZATION

Time : Three Hours] [Maximum Marks : 100

Note : Answer five questions in all. Question No. 1, which
carrying 40 marks, is compulsory. Apart from that
attempt one question carrying 15 marks from each unit.
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la- 1 ftlds 40 vad

gSa] vfuok;Z gSA blds vykok] izR;sd bdkbZ ls ,d iz'u ftlds

15 vad gSa] dhft,A

1. Write short notes on the following :
fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, %

(a) Size measures of Business unit.
O;kolkf;d bdkbZ ds vkdkj ekidA

(b) Line and Staff organisation.
js[kk vkSj deZpkjh laxBuA

[P.T.O.]
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(c) Difference between Produce exchange and Stock
exchange.
mit fofue; rFkk LdU/k fofue; esa vUrjA

(d) Halsey Premium Plan.
gSYls izO;kft ;kstukA

(e) Bases or causes of Combination movement.
la;kstu vkUnksyu ds vk/kkj vFkok dkj.kA

(f) Factors causing Fluctuations in the prices of
securities.
izfrHkwfr;ksa ds ewY;ksa esa mrkj&p<+ko djus okys ?kVdA

(g) Define Production Management.
mRiknu izcU/k dks ifjHkkf"kr dhft,A

(h) Difference between Rationalisation and
Combination.
foosdhdj.k ,oa la;kstu esa vUrjA

(i) Importance of Produce Exchange.
mit fofue; foif.k dk egÙoA
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(j) Techniques or elements of Production Planning
and Control.
mRiknu fu;kstu ,oa fu;U=.k dh rduhdsa vFkok

rÙoA

UNIT-I @ bdkbZ&I
2. What considerations should a businessman keep in mind

while selecting form of Business organisation ?
O;kolkf;d laxBu ds izk:i dk pquko djrs le; ,d O;olk;h

dks dkSu&dkSu lh ckrsa /;ku esa j[kuh pkfg, \

3. What do you understand by Optimum size of Business
unit ? Explain the factors which determine the optimum
size.
O;kolkf;d bdkbZ ds vuqdwyre vkdkj ls vki D;k le>rs

gSa \ vuqdwyre vkdkj dks fu/kkZfjr djus okys dkjdksa dh

O;k[;k dhft,A

UNIT-II @ bdkbZ&II

4. "Combinations are harmful to consumers as they lead
to monopoly." "Combination by reducing the cost of

[P.T.O.]
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production supplies commodities and services to
consumers at a cheaper price." State a balance between
these two statements.
^^la;kstu miHkksäkvksa ds fy, gkfudkjd gS D;ksafd os ,dkf/kdkj

dk fuekZ.k djrs gSaA** ^^la;kstu mRiknu ykxr ewY; ?kVkdj

miHkksäkvksa dks de nke ij oLrq,¡ ,oa lsok,¡ iznku djrk gSA**

mijksä nksuksa erksa esa lkeatL; dhft,A

5. What is meant by Rationalisation without tears ? How
can it be achieved ?
vJq jfgr foosdhdj.k ls D;k vk'k; gS \ bls dSls izkIr fd;k

tk ldrk gS \

UNIT-III @ bdkbZ&III
6. What do you understand by Organisation ? Describe its

principles.
laxBu ls vki D;k le>rs gSa \ blds fl)kUrksa dk o.kZu

dhft;sA

7. Define Delegation and discuss its objectives and
importance.
HkkjkiZ.k dh ifjHkk"kk nhft, rFkk blds mís';ksa ,oa egÙo dh

O;k[;k dhft,A
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UNIT-IV @ bdkbZ&IV
8. What do you understand by 'Stock Exchange' ? Explain

its economic function.
^LdU/k foif.k* ls vki D;k le>rs gSa \ blds vkfFkZd dk;ksZa dh

O;k[;k dhft,A

9. What do you mean by Production and Control ? Discuss
the various stages of production planning.
mRiknu vkSj fu;a=.k ls vki D;k le>rs gSa \ mRiknu ;kstuk

ds fofHkUu pj.kksa dh foospuk dhft,A

----- x -----
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